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[All questions are compulsory. Every question is written first in English and then in Bengali.
Answer (Ans:) is written there after where you have to write the answer. Calculator is not
allowed.] /Calculation sheets supplied by the centre must be attached with this answer paper|

Group — A 12x2=24

[Each question has four answers of which one is correct. Underline the correct answer. 1/2 mark will
be deducted for each wrong marking. Cancellation or over writing is not allowed]
1.  Thedifference between two whole numbers is 66. The ratio of the two numbersiis 2 : 5. The two

numbes are :

ufS 2217 ST9 66 9% IR SRS 2 ¢ 5| 72 gf5 25 —

(A) 60, 6 B) 100, 33 (C) 110, 44 (D) 99, 33
2. Which of the following is not a regular polygon ?

AHT @O @6 7 29 7 ?

(A) Square (35(CFa) (B) Equilateral triangle (35=iz fager)

(C) Rectangle (Sret=9) (D) Regular hexagon (3% I0¢&)

3. Ifthe diagonals of a rectangle are 2x + 1 and 3x — 1 respectively then the value of x will be
T @35 SiTerEwas 3 4id T 2x + 1 €32 3x — 1 T, O=E X €7 M 23—
(A)1 (B)2 (C)3 (D)4
4. The number of natural numbers between 992 and 1002 is
99%'¢ 100 7 Xy T (et FSIRT AT ACACR O A2 261 —
(A) 197 (B) 198 (C)199 (D) 200
5. Theratio of 25 paise to Rs. 1 is
25 #3071 @ 1 GIpIF Se=ire 267 —
(A)25:1 (B)1:25 (C)4:1 (D)1:4
6. 0.09x10"is equal to
0.09 x 10" «@g S —
(A) 900000000 (B) 9000000000
(C) 90000000000 (D) None of these (4%TeT (FI02 77)
7. Ifwejoin(-5,1), (-5,—1)and (-5, 4), then we obtain
ImSmE (=5, 1), (=5, — 1) € (=5, 4) AT T ©IRCe o= 7 —
(A) ATriangle (40 fage)
(B) Straight line without passing through origin (IETRANE T G5 AFECIAN)
(C) Straight line passing through origin (&S s@eca=)
(D) None of these. (4%TAIT (F02 777)
8.  Among the following, the statement which is not true about 480249 is
e Srafee 480249 =4S 7w @ 3ol e 7 o =1 —
(A) It is divisible by 9 (321 9 7=l Keren)
(B) It is divisible by 11 (32! 11 =i feten)
(C) It is perfect square (271 <G sjefaaf F4n)
(D) If itis divided by 3 the quotient is a perfect square.
(FRCE 3 A Ol AL, SIa6 G5 7jofasf A=)




10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

For any two naturalnumbers mandn, ; mAn = m2 + nz, mVn=m’-n’
Thevalueof (5V 2)A 25 is
ybAefemaimenaaes mAn=m’+n° <« mVn=m*>—-n®,

oz (5V 2)A25 @qsm —

(A) 46 (B) 106 (C) 525 (D) 1066
1 5 1 3 . 1 5 1 3
L.C.M. of 13 gand 6 IS 13 gﬁ 16 T IS 36 —
A) > B) 15 c) + D)
(A) 7 ®) © 0) 25
Thevalue of = > i  x : Ry
e value O by = » 1 IS by = A 1 4«9 QT —
3 é—g ofll 3 é—g ofll
6 3 4 6 3 4
1 2
(A)2 (B)1 (C) 3 (D)g

(PP)?=QRSP, where P, Q, R and S are distinct digits and S is odd. Then Q is equal to
I (PP)2 = QRSP =¥, (@ATA P, Q, R € S ¥og M4 @3k S S, ©izre Q & N 2 —

(A)3 (B)4 (C)5 (D)6
Group — B
[Write the answer only at the proper place] 12x2=24

The area of arhombus is 240 cm? and one of the diagonals is 16 cm. Find the other diagonal.
@3 TR (FqEe 240 9N 93 936 T 16 GifSl | Sofg Feffoa o o 2
Ans :

Which of the following number is the least ?

Teb AT W (I a2
(0.5)% J0.49 , 3/0.008 ,0.23

Ans : D C
In the given figure, ABCD is a parallelogram in which g
A A WV

/DAB =75°and /ppC =60° What is the value of ~BDC ? B
2@ f5ra, ABCD @6 AR |, pAB = 75° ¢ /DBC = 60° T /BDC 93 T T ?
Ans :

Factorise : (12— 2lm + m?2) — 9p? Tt e 9 2 (12— 2Im + m?2) — 9p?
Ans :
Which is the smallest composite number ?
U (15 AR (D 2
Ans :
x _0 , x-y 14

If 2y 7 , then find the value of Xty 19

x 6 x—y 14

- = + —
m 2y - &, Ol rry 19 GF A (@1 9 |
Ans :

Cost of 4 dozens bananas is Rs.60. How many bananas can be purchased for Rs.12.50 ?
4 Ter I Wi 60 I 20e, 12.50 TR WG Il (el A 2

Ans :

If the three digit number 6a8 is divisible by 9, than what is the value of a ?

Il fon o3 «(G 7K 6a8, 9 aldl [eley 23 ©iale a 3 WiW T ?

Ans :



21.

22.

23.

24.

The population of a city was 20,000 in the year 2019. Itincreased at the rate of 5% p.a. Find the
population at the end of the year 2022.

2019 A @36 #1203 @ 20,000 2771 | 2ifsqma 5 *oie| 2H @7 Jian 706 | 2022 A BCS *2A04
(NG (=11 F 0 = ?

Ans : s R
Find the perimeter of the figure PQRSTUP. U T e
PQRSTUP foafbs #Afaréir faef | S
Ans : p = -2

8 cm
(0.01)* +(0.22)* +(0.333)°
(0.001)° +(0.022)” +(0.0333)’

Find the value of

(0.01)° +(0.22)" +(0.333)°
(0.001)° +(0.022) +(0.0333)’

DICATERESE

Ans :

An angle of a Parallelogram is four-fifth of its adjacent angle. What is the smaller angle of the
Parallelogram ?

I ANMBRCT G (il O A2 (TR B 2] 20 ANSB LR Faos (FIER A 9 ?
Ans :

Group-C

[Important steps of calculation, Statements and proof whereever necessary are to be given]

25.

T a?=by + cz, b? = cz + ax, c2 = ax + by, =, O=H

3x4=12

X z
If a2 = by + cz, b? = cz + ax, ¢ = ax + by, then find the value of 2t
a+x b+y c+z

x y z
+ +
arx bry etz G e el 4 |



26. Inthe adjacent figure, find the area of the shaded region.
A< Foaft (At e Sreeea cwraws foem 54 |

8 cm

6cm

27. Find the height of the cylinder whose volume is 1.54 m3 and diameter of the base is 140 cm.
«3HB (GITEa i@ T 140 @I € S 1.54 THHR 206 3219 Twhol fwefd 37|




